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A WRINKLE IN TIME WORKSHEET ANSWER KEY LEVELe

1 Reader’s own answers. 6 Meg goes back and saves Charles Wallace
with her love.
20 1 Meg 2 Charles Wallace
3 Calvin 4 Mrs. Who 40 Seeing things:
5 Mrs. Which appear crystal ball
materialize shine
2b 1 I Calvin is Meg’s friend. Not seeing things:
2T dark disappear
3 I' Mr. Murry has disappeared. transparent
47T
5T 4b Model answers:
6 I Mrs. Whatsit, Mrs. Who, and Mrs. Which 1 A tesseract is a short journey, like an insect
are not enemies. They work together and live makes across a wrinkle in a skirt.
in the same house. 2 CENTRAL Intelligence Center is a place
for secret information.
2C 1 The twins 3 IT is a brain with no body that tries to get
2 (Calvin into other people’s brains.
3 Mrs. Murry/Mother
4 Mrs. Whatsit 5a Earth Camazotz
5 Meg it is not bright the children are
6 Mrs. Which all perfect
7 Mrs. Who there 1s dark nobody s ill
8 Mr. Murry/Father smoke everywhere
9 Charles Wallace there is a lot of
trouble because IT lives there
2d Reader’s own answer. of the Black Thing
a3 bl c6 d5 e4 f2 Mars Uriel
there are hundreds the sun is high
of stars in the sky
3b Model answers:
1 Meg and Charles Wallace meet Calvin. . the grass is green
Calvin and Charles Wallace are different. there are mountains anc‘i there are
) i spring flowers
2 Mrs. Whatsit, Mrs. Who, and Mrs. Which
climb over the wall. They are going to help o there i.S & .high
find Meg’s father: there is bright snow m(?untaln, its top
in the clouds
3 Mrs. Whatsit changes into a white horse and
takes the children to planet Uriel.
4 The children tesser to Camazotz. Everybody OB Reader’s own answer:
there is perfect. They bounce balls together.
5 Mr. Murry tessers Meg and Calvin to a safe 6Q Reader’s own answer.
place, but leaves Charles Wallace with I'T.
6D Reader’s own answers.
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